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DH7TEE KPEE IR RHERERS (EH)

£ L 2 K S & ==Xiv2 = B + %8 =
x BT B x 2568500 + 7,277,021 + 106,358 + 49,195 10,001,074
x I B & x 10,001,074 * 66.2% — 1784 6,618,926 6,618,926
10,001,074 * 74.5 % — 1874 = 1.00 7,448,926 7,448,926 830,000
x*x | B XK B & 10,001,074 + 6,618,926 16,620,000
10,001,074 + 7,448,926 17,450,000 830,000
x B & | i * 1,127,700 + 50,759 1,178,459
*x fal #%& |/ i = 1,127,700 * 35.0% /( 1 - 35.0% ) 607,266 607,266
=X 1.00
x x ZE FE R {f * * 1,178,459 + 607,266 1,785,725
xx —REBEBEE x ok 1,785,725 * 35.0% /( 1 - 35.0% )- 7,337 954,275 954,275
= 1.00
% Ot E B E k% 1,785,725 + 954,275 2,740,000
T R 16,620,000 + 2,740,000 19,360,000
17,450,000 + 2,740,000 20,190,000 830,000
x SHEB MM YL * 19,360,000 * 10.0% 1,936,000
20,190,000 * 10.0% 2,019,000 83,000
xk % B B £ E8 * k% 19,360,000 + 1,936,000 21,296,000
20,190,000 + 2,019,000 22,209,000 913,000




DHTEE KPEE IR RHERERS (EH)

£ G 2 K+ & Bl & £ B i & % I
1 HKAE BKE 5] 4.00 229,830 919,320
2 HKAE fEN AT & ] 2.00 229,158 458,316
3 HKAE THE 5] 2.00 229,158 458,316
4 HKAE ZHEE 5] 1.00 218,722 218,722
5 HKAE 2 HEEG LN 15) @] 26.00 218,079 5,670,054
6 HKAE =i 5] 2.00 218,079 436,158
7 HKAE KiEHE ] 1.00 218,079 218,079
8 HKAE B [] 6.00 215,911 1,295,466
9 BKRAE BHiEGERE) [ 1.00 220,285 220,285
10 WRERXBE (BKIRAE) = 1.00 106,358 106,358
x BE I EE * 10,001,074
11 AEE R = 1.00 91,152 91,152
12 ERItHEE ] 1.00 49,950 49,950
13 E R & 7.00 70,801 495,607
14 WEZLYFEED = 45.00 11,150 501,750
15 EEHRRE = 1.00 40,000 40,000
x B &R O * 1,178,459




BKERAE EKE 1 EHY _
% i iR 1% B E2 % ER ® % =S

BIKAEE (GBKL) A 1.00 60,100.00 60,100

Bk GEER) D270ps%! 3~5tF A 0.50 188,794.00 94,397|7k3E8H

Bk (HA) D270ps®! 3~5tF =] 0.50 148,381.00 74,190

MR % 0.50 228,687.00 1,143

B 229,830 229,830

BKERAE FENRIT I 55 1 EHY
% b iR % B fr BB B & % =

BKAEE (GBKL) A 1.00 60,100.00 60,100

Bk GEER) D270ps%! 3~5tF A 0.50 188,045.00 94,0227k 3£ 8H

Bk (HA) D270ps®! 3~5tF =] 0.50 147,792.00 73,896

A % 0.50 228,018.00 1,140

B 229,158 229,158

BKERAE THE 1 EHY _
% i iR 1% B E2 % ER ® % =S

BIKAEE (GBKL) A 1.00 60,100.00 60,100

Bk GEER) D270ps%! 3~5tF A 0.50 188,045.00 94,022(7k £ 8H

Bk (HA) D270ps®! 3~5tF =] 0.50 147,792.00 73,896

A % 0.50 228,018.00 1,140

B 229,158 229,158

BKERAE AEER 1 EHY _
% R iR 1% B E2 % ER ® % =S

BIKAEE (GBKL) A 1.00 56,500.00 56,500

Bk GEER) D270ps%! 3~5tF A 0.50 181,169.00 90,584|mk 3£ 8H

Bk (HA) D270ps®! 3~5tF =] 0.50 141,100.00 70,550

MR % 0.50 217,634.00 1,088

B 218,722 218,722

BKERAE AEEERGE LSS 1 EHY _
% R iR 1% B E2 % ER ® % =S

BKAEE (GBKL) A 1.00 56,500.00 56,500

Bk GEER) D270ps%! 3~5tF A 0.50 180,451.00 90,225(7k 3£ 8H

Bk (HA) D270ps®! 3~5tF =] 0.50 140,540.00 70,270

MR % 0.50 216,995.00 1,084

B 218,079 218,079

ik
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BKERAE =k 1 EHY _
% i iR 1% B E2 % ER ® % b

BIKAEE (GBKL) A 1.00 56,500.00 56,500

Bk GEER) D270ps%! 3~5tF A 0.50 180,451.00 90,225(7k 3£ 8H

Bk (HA) D270ps®! 3~5tF =] 0.50 140,540.00 70,270

MR % 0.50 216,995.00 1,084

B 218,079 218,079

BKERAE KIAE 1 EHY _
% i iR 1% B E2 % ER ® % b

BKAEE (GBKL) A 1.00 56,500.00 56,500

Bk GEER) D270ps%! 3~5tF A 0.50 180,451.00 90,225(7k 3£ 8H

Bk (HA) D270ps®! 3~5tF =] 0.50 140,540.00 70,270

MR % 0.50 216,995.00 1,084

B 218,079 218,079

BKERAE mH & 1 EHY _
% i iR 1% B E2 % ER ® % b

BIKAEE (GBKL) A 1.00 56,100.00 56,100

Bk GEER) D270ps%! 3~5tF A 0.50 178,823.00 89,411|FLZ8H

Bk (HA) D270ps®! 3~5tF =] 0.50 138,652.00 69,326

A % 0.50 214,837.00 1,074

B 215,911 215,911

BKERAE mAHECEE) 1 EHY _
% i iR 1% B E2 % ER ® % b

BIKAEE (GBKL) A 1.00 56,100.00 56,100

Bk GEER) D270ps%! 3~5tF A 0.50 183,727.00 91,863|7E3E8H

Bkt EH) D270ps%! 3~5tf H 0.50 142,455.00 71,227

MR % 0.50 219,190.00 1,095

B 220,285 220,285

TR EE (BKERE) 1KYy _
% R iR 1% B E2 % ER ® % b

REXBE GBKRE ) BN 1.00 106.358.00 106.358

&5t 106,358 106,358

ik
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HEERE _ 1 KLY _
2 i iR B E2 % ER ® % I
ki (A) %5t A 0.50 59,600.00 29,800
HEm(C) REt A 1.50 40,300.00 60,450
SRERE % 1.00 90,250.00 902
&5t 91,152 91,152
IS _ 1 EHY
% i3 5] B ] % = B x = W =
HAm (A) NEt A 0.50 59,600.00 29,800
A (C) Zit A 0.50 40,300.00 20,150
&5t 49,950 49,950
EiEEE _ D)
% i3 5] B ] % = B x = W =
HEm (A) N E A 0.50 59,600.00 29,800
BEm(C) =R A 1.00 40,300.00 40,300
EERS % 1.00 70,100.00 701
B 70,801 70,801
WEEEYFEED _ 1 @HY
2 R iR B E2 % ER ® % S
B (A) &3 A 0.05 59,600.00 2,980
B (C) A 0.20 40,300.00 8,060
SRERE % 1.00 11,040.00 110
&5t 11,150 11,150
(R ERE _ 1 LY
% i3 5] B ] % = R x = W =
7 A EN 1.00 40,000.00 40,000
B 40,000 40,000

ik



2R Bk CGEKE) fe4k  [D270ps 3~5tF 1A%Y
. L (FhZ M)
S P 2 &£ A
E 35! % iH L 98.10 129.00 12,654
Bk HEER A 52,300.00 0.20 10,460 0.20 10,460
BKER S A 33,700.00 1.00 33,700 1.00 33,700
BKERE A 32,000.00 1.00 32,000 1.00 32,000
=P ] ki =] 13,100.00 1.00 13,100
fizEi ] {i Fe =] 18,400.00 1.00 18,400 1.00 18,400
&t 120,314 94,560
B EEE % 26.15 31,462 24,727
&t 151,776 119,287
—REHE % 24.39 37,018 29,094
& & 188,794 148,381
N \
&% (ﬁmﬁi’%ﬂﬂfm 5 o4k |D270ps 3~5tR 184Y
= ! . L (FLESHERED)
S P S £ A
E 35! 8% ih L 98.10 129.00 12,654
Bk HEER A 52,300.00 0.20 10,460 0.20 10,460
BKER S A 33,700.00 1.00 33,700 1.00 33,700
EKERE A 32,000.00 1.00 32,000 1.00 32,000
EiEEE 1B EL =] 13,100.00 1.00 13,100
fizES {i FH =] 18,400.00 1.00 18,400 1.00 18,400
&t 120,314 94,560
B EEE % 25.65 30,860 24,254
&t 151,174 118,814
—REHE % 24.39 36,871 28,978
& & 188,045 147,792
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2R Bkt (2EEE) fe4k [D270ps 3~5tF 1A%Y
; (FhZ MR
PRI B . e I i J=3]
E 35! % iH L 96.40 129.00 12,435
BKHEER A 49,100.00 0.20 9,820 0.20 9,820
BKER S A 33,000.00 1.00 33,000 1.00 33,000
EKERE A 28,700.00 1.00 28,700 1.00 28,700
EiEEE 1B EL =] 13,100.00 1.00 13,100
ficES {i FH =] 18,400.00 1.00 18,400 1.00 18,400
&t 115,455 89,920
B EEE % 26.15 30,191 23514
&t 145,646 113,434
—REHE % 24.39 35,523 27,666
& & 181,169 141,100
2R BTGNS E) Fe4k  [D270ps 3~5tF 1A%Y
. (T 8HERE)
s P B EE
E 35! 8% ih L 96.40 129.00 12,435
BKHEER A 49,100.00 0.20 9,820 0.20 9,820
BKER B A 33,000.00 1.00 33,000 1.00 33,000
EKERE A 28,700.00 1.00 28,700 1.00 28,700
EiEEE 1B EL =] 13,100.00 1.00 13,100
fizES {i FH =] 18,400.00 1.00 18,400 1.00 18,400
&t 115,455 89,920
B EEE % 25.65 20614 23,064
&t 145,069 112,984
—REHE % 24.39 35,382 27,556
& & 180,451 140,540
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2R B (ZmE, KiEH) fe4k  [D270ps 3~5tF 1B%Y
; L (FhE M)
et s WD 2 & £ B
E 35! % iH L 96.40 129.00 12,435
BKHEER A 49,100.00 0.20 9,820 0.20 9,820
BKER S A 33,000.00 1.00 33,000 1.00 33,000
BKERE A 28,700.00 1.00 28,700 1.00 28,700
EiEEE 1B EL =] 13,100.00 1.00 13,100
ficES {i FH =] 18,400.00 1.00 18,400 1.00 18,400
&t 115,455 89,920
B EEE % 25.65 29,614 23,064
&t 145,069 112,984
—REHE % 24.39 35,382 27,556
& & 180,451 140,540
2R Bk (mBmE) Fe4k  [D270ps 3~5tF 1A%Y
; (FhZ M)
PRI B . e I i B
E 35! % iH L 96.90 129.00 12,500
BKHEER A 48,800.00 0.20 9,760 0.20 9,760
BKER S A 31,900.00 1.00 31,900 1.00 31,900
BKERE A 28,300.00 1.00 28,300 1.00 28,300
EiEEE 1B EL =] 13,100.00 1.00 13,100
fizES {i FH =] 18,400.00 1.00 18,400 1.00 18,400
&t 113,960 88,360
B EEE % 26.15 29,800 23,106
&t 143,760 111,466
—REHE % 24.39 35,063 27,186
& & 178,823 138,652
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&% EBKkEMm(mB™HE BF) 4k |D270ps 3~5tH 1AHY
— - (FRESHFR)
et W & & £ B
F A 8H L 96.90 129.00 12,500
EKHEER A 48,800.00 0.20 9,760 0.20 9,760
BIKERE A 31,900.00 1.00 31,900 1.00 31,900
BKERE A 28,300.00 1.00 28,300 1.00 28,300
EEEE BB H 13,100.00 1.00 13,100
BE fit A B 18,400.00 1.00 18,400 1.00 18,400
5 113,960 88,360
HISEEE % 29.61 33,743 26,163
5 147,703 114,523
—REEE % 24.39 36,024 27,932
a8 & 183,727 142,455
25 *’%ﬁ%’ﬁf"%’)\/ ) fsdk |SAR/N 2L 69kw 1A HY
’ (FhZESHERE)
ST e | B Bg
BkE (B | B g =
EF:3E) AV L 168.00 17.00 2,856 1EBL5h
EEEE e B 287.00 5.00 1,435
B A H 1,580.00 1.19 1,880
g 6,171

- RiiE S
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&% %ﬁigﬁ;{%) Bk |S4RAY 2L 69kw 1E%4Y
(Fh 8B R)
FikstiE B f| B @ g &
EF32 AV L 166.00 7.00 1,162 1E#52h
15 eI R RS 287.00 2.00 574
ficES 1 FH =] 1,580.00 1.19 1,880
&t 3,616




